ern
"ROt Mod éz’ Art.-Nr. Text EE
1 10023 Giihlampe L]
Light bulb
2| 85066 | Motormit L 2]
Motor with fly wheels
3| asen Schraube M 2x5 2
Screw M 2x5
4 B5679 Schraube M 2x18 3
Screw M2x18
5 rali} 4
Cardan shaft
6 B7109 Kardanschale 3
Cardan bearing
7 87715 ing kpl. 40
inted ercuit assy
B| B7TE Lampenplatine 35
Lamp printed circuit assy.
9| 89732 | Lokfohrer 5
Loco driver
10| B7877 | Verbindungs-Kontakt 3
Connecting-contact
il N5 Gewicht 24
Wiaight
12| 94222 ichtung 6
Interior
13| 94223 ? 4
Interior cover
14| 94233 | Leuchtstab,oben 4
Light transmission bar, top
15 84242 | Gitter 4
Grid
54243 | Hupe 2
Air hom
7 94244 Stimfenster 6
Front glazing
18 94245 Seitenfenster 6
Side giazing
19 94249 Antenne 2
Antanna
94268 Auspufl, rot ]
Exhaust, red
2 84274 ot L]
Cover, red
22 94280 Webastodeckel, schwarz 4
Webasto covex, black
23| dz® ufter, schwarz 2
Wbastoventilator, black
24 94330 kpl. L
@ Drivers cab assembly
’ i . 25 24331 Vorbau 1 36
Extension body 1
26| 94332 | Vorbau2 36
Extension body 2
27 94333 | Zurd 30
e i . Bag with accessornies
: 28| 95144 | Zuristbeutel Kupplungen 2
Bag with
Lokfihrer (0. Abb.)
Loco driver (no ill,)
Zuriistbeutelkupplungen (o. Abb.)
Bag with couplings (no il,)
Zuriistbeutel (0. Abb.)
Bag with accessoires (no ill)
Anderungen vorbehalten Ausgabe 8909 Blatt 2371
We reserve right to make changes Edition 8909 Page 237/1




